Notes on 4.1.1 November 08, 2017

SHQLRumDs up please pick up the chapter 4 recording sheet

/j solve the following quadratic equation using the method of completing
the square & leave your answer(s) exact.

/ 4x*-24x+13 =0
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...building on what you already know...
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’fabout to solve graphically*

approximate answer

use thegraph to
solve the equation

(x+3)%-5 =4
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16 the graph was useful on

4 y=(x+3)%-5
but what if you don’t
have an accurate
graph?
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or if the solution is far
off the "map”?

o
S

|
)

solve the challenging equations on 4-4
P70

strive for exact answers when possible

check in with feam members to see the
different strategies used...
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M‘(\O\l\’ your work neatly:

v Be organized.
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Practice using good notation.
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Try using the graphical method

(x-3° - 2 = -5
e e
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(x-3° - 2 = -5

L2 +2
A =F>
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F 13-7x| = 6
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4(x+2) -5 =0
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